
SAP ABAP table ACTI {PSIS - Individual Overviews: Activities}

ACTI

PRCTR [CHAR (10)]

PRNAM [CHAR (8)]

KDAUF [CHAR (10)]

KDPOS [NUMC (6)]

AUFNR [CHAR (12)]

STEUS [CHAR (4)]

WERKS [CHAR (4)]

KTSCH [CHAR (7)]

TXTSP [LANG (1)]

RSTRA [CHAR (2)]

LIFNR [CHAR (10)]

SAKTO [CHAR (10)]

WAERS [CUKY (5)]

INFNR [CHAR (10)]

EKORG [CHAR (4)]

EKGRP [CHAR (3)]

MATKL [CHAR (9)]

MLSTN [CHAR (5)]

BUKRS [CHAR (4)]

ANFKO [CHAR (10)]

ANFKOKRS [CHAR (4)]

LARNT [CHAR (6)]

BNFPO [NUMC (5)]

KALID [CHAR (2)]

VERTL [CHAR (8)]

NPRIO [CHAR (1)]

TXJCD [CHAR (15)]

GSBER [CHAR (4)]

AENNR [CHAR (12)]

OWAER [CUKY (5)]

MEINH [UNIT (3)]

DAUNE [UNIT (3)]

DAUME [UNIT (3)]

ARBEH [UNIT (3)]

EWDNE [UNIT (3)]

EWDME [UNIT (3)]

EHOFFB [UNIT (3)]

EHOFFE [UNIT (3)]

PDAE [UNIT (3)]

SLWID [CHAR (7)]

USE04 [UNIT (3)]

USE05 [UNIT (3)]

USE06 [CUKY (5)]

USE07 [CUKY (5)]

WEMEH_OPR [UNIT (3)]

IDAUE [UNIT (3)]

ODAUE [UNIT (3)]

REMNE [UNIT (3)]

VEINH [UNIT (3)]

AENR

MANDT [CLNT (3)]

AENNR [CHAR (12)]

 ACTI-AENNR = AENR-AENNR 
0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 ACTI-AUFNR = AUFK-AUFNR 
0..N

1

CEPC

MANDT [CLNT (3)]

PRCTR [CHAR (10)]

DATBI [DATS (8)]

KOKRS [CHAR (4)]

 ACTI-PRCTR = CEPC-PRCTR 
0..N

{0,1}

CSKA

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

KSTAR [CHAR (10)]

 ACTI-SAKTO = CSKA-KSTAR 
0..N

{0,1}

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 ACTI-ANFKO = CSKS-KOSTL 
0..N

{0,1}

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 ACTI-LARNT = CSLA-LSTAR 
0..N

{0,1}

EBAN

MANDT [CLNT (3)]

BANFN [CHAR (10)]

BNFPO [NUMC (5)]

 ACTI-BNFPO = EBAN-BNFPO 
0..N

{0,1}

EINA

MANDT [CLNT (3)]

INFNR [CHAR (10)]

 ACTI-INFNR = EINA-INFNR 
0..N

{0,1}

IMTP

MANDT [CLNT (3)]

PRNAM [CHAR (8)]

GJAHR [NUMC (4)]

 ACTI-PRNAM = IMTP-PRNAM 

0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]

 ACTI-LIFNR = LFA1-LIFNR 

0..N

{0,1}
T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ACTI-BUKRS = T001-BUKRS 

0..N

1

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 ACTI-WERKS = T001W-WERKS 

0..N

1

T002

SPRAS [LANG (1)]

 ACTI-TXTSP = T002-SPRAS 

0..N

{0,1}

T006

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

 ACTI-ARBEH = T006-MSEHI 

0..N

{0,1}

 ACTI-DAUME = T006-MSEHI 

0..N

{0,1}

 ACTI-DAUNE = T006-MSEHI 

0..N

{0,1}

 ACTI-EHOFFB = T006-MSEHI 

0..N

{0,1}
 ACTI-EHOFFE = T006-MSEHI 

0..N

{0,1}
 ACTI-EWDME = T006-MSEHI 

0..N
{0,1}  ACTI-EWDNE = T006-MSEHI 

0..N
{0,1}

 ACTI-IDAUE = T006-MSEHI 
0..N

{0,1}
 ACTI-MEINH = T006-MSEHI 0..N

{0,1}
 ACTI-ODAUE = T006-MSEHI 

0..N

{0,1}
 ACTI-PDAE = T006-MSEHI 

0..N

{0,1}  ACTI-REMNE = T006-MSEHI 

0..N

{0,1}
 ACTI-USE04 = T006-MSEHI 

0..N

{0,1}

 ACTI-USE05 = T006-MSEHI 

0..N

{0,1}

 ACTI-VEINH = T006-MSEHI 

0..N

{0,1}

 ACTI-WEMEH_OPR = T006-MSEHI 

0..N

{0,1}

T023

MANDT [CLNT (3)]

MATKL [CHAR (9)]

 ACTI-MATKL = T023-MATKL 

0..N

{0,1}

T024

MANDT [CLNT (3)]

EKGRP [CHAR (3)]

 ACTI-EKGRP = T024-EKGRP 

0..N

{0,1}

T024E

MANDT [CLNT (3)]

EKORG [CHAR (4)]

 ACTI-EKORG = T024E-EKORG 

0..N

{0,1}

T430

MANDT [CLNT (3)]

PLNAW [CHAR (1)]

STEUS [CHAR (4)]

 ACTI-STEUS = T430-STEUS 

0..N

1

T433

MANDT [CLNT (3)]

MLSTN [CHAR (5)]

 ACTI-MLSTN = T433-MLSTN 

0..N{0,1}

T435

MANDT [CLNT (3)]

VLSCH [CHAR (7)]

 ACTI-KTSCH = T435-VLSCH 0..N

{0,1}

T499Q

MANDT [CLNT (3)]

WERKS [CHAR (4)]

RSTRA [CHAR (2)]

 ACTI-RSTRA = T499Q-RSTRA 

0..N

{0,1}

TC29

MANDT [CLNT (3)]

VERTL [CHAR (8)]

 ACTI-VERTL = TC29-VERTL 

0..N

{0,1}

TCN00

MANDT [CLNT (3)]

SLWID [CHAR (7)]

 ACTI-SLWID = TCN00-SLWID 

0..N

{0,1}

TCN07

MANDT [CLNT (3)]

NPRIO [CHAR (1)]

 ACTI-NPRIO = TCN07-NPRIO 

0..N

{0,1}

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 ACTI-OWAER = TCURC-WAERS 

0..N

0..N

 ACTI-USE06 = TCURC-WAERS 

0..N

{0,1}

 ACTI-USE07 = TCURC-WAERS 

0..N

{0,1}

 ACTI-WAERS = TCURC-WAERS 

0..N

{0,1}

TFACD

IDENT [CHAR (2)]

 ACTI-KALID = TFACD-IDENT 

0..N

{0,1}

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 ACTI-GSBER = TGSB-GSBER 

0..N

{0,1}

TKA01

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

 ACTI-ANFKOKRS = TKA01-KOKRS 

0..N

{0,1}

TTXJ

MANDT [CLNT (3)]

KALSM [CHAR (6)]

TXJCD [CHAR (15)]

 ACTI-TXJCD = TTXJ-TXJCD 

0..N

{0,1}

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 ACTI-KDAUF = VBUK-VBELN 

0..N

{0,1}

VBUP

MANDT [CLNT (3)]

VBELN [CHAR (10)]

POSNR [NUMC (6)]

 ACTI-KDPOS = VBUP-POSNR 

0..N

{0,1}


